www.HaryanadJobs.in

[B]

¥R 1/ PART =
ST R T R / CHILD DEVELOPMENT AND PEDAGOGY
R : F=ilifed el % S 39 3 fg gad afeT A& g

ction : An
Dire swer the followws by selecting the most appropriate option.

-O‘%am W B T Ry

o FE AR
2) %o THo Hi-EEH
(3) @ I AT
ORESICE
2. fFfeiag & ¥ FW-ar ﬁ'cw &
o R @R ?
(1) qiod & R
(2) Jafs P & e
(3) Vet #i wHET # R
@Rl & g afokeet @
HEaE & e

3. ¥ T= of R mER @ e
et 4 IR W g, S% (o
‘FirT oW W= H WA HAHdH

R R ?

(1) & @ o o

GFRR @@=
@%m s @

rrltl‘-ﬂlﬁo‘a%ﬁma?ﬂ?ﬂﬂ'd’lﬁr?

W8 A 12 a8 3 geRys a9 d
et & fie

2) 4 ¥ 8 af & geRE AW A9

afadt % R

3) 12 @ 15 7§ & FFReE A9 T
Ffat % fig

@2 4 af 3 AR Q¥ A
i & R |

" Level-2/8101

1.

Who introduces concept of 'Latent
Learning' very first ?

(1) Kurt Lewin

(2) E. L. Thorndike

(3) Edward Chace Tolman
(4) Pavlov |

Out of the following which is not
correct principle of 'Development' ?

(1) Principle of continuity

(2) Principle of individual difference

(3) Principle of uniformity of pattern

(4) Principle of proceeding from
specific to general responses

Who introduces 'Learning Disable'
word very first for the children

suffered from various learning
problems ?
(1) Heward (2) Samuel Kirk

(3) Van Riper (4) Birch

Scale 1 in Cattell Culture Free

Intelligence Test was prepared for

whom ? )

(1) For 8 to 12 years mental
deficient person

(2) For 4 to 8 years mental def cient
person

.(3) For 12 to .15 years mental’

deficient person
(4) For 2 to 4 years mental deficient
person :
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10.

Which of the following is not the
characteristic of Good Mental
Health 9 '

(1) Ability to adjust

(2) Emotional Maturity

(3) Self-confidence

(4) Intolerance |
According to Jean Piaget in which
stage child is able to unde.rstand
Hypothesis and getting thinking
ability on the basis of logical
statement ?

(1) 0to2 years (2) 2 to 6 years
(3) 6to 11 years (4) 11 to 15 years

In which stage of development,
interest/friendship develops towards
same sexual groups ?

(1) 12to 14 years (2) 15 to 18 years
(3) 10to 12 years (4) 19 to 21 years

Which of the following is mot the
type of Realistic thinking ?

(1) Convergent thinking

(2) Creative thinking

(3) Evaluative thinking

(4) Autistic thinking

Out of the following which
psychologist was mot supporter of
'Humanist Psychology' ? _
(1) Freud (2) Maslow -
(3) IRdgers (4) Arthur Combs

Which of the following is nor the
characteristic of Learning Disabled
Children ?

(1) Perceptual effectiveness

(2) Emotional instability

- (3) Disorder of attcntlon

4) Impulswﬁy
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11.

12.

13.

- [ B ]
What is the age group for the moral
development stage Heteronomy

Reciprocity"” given by Jean Piaget 2
(1) Oto 5 years

(2) 13_ to 18 years
(3) 5 to 8 years
(4) 11to 13 years

Which of the following approach is
based on analysing the behaviour of
disabled child and find out the root
cause of his/her learning deficiency ?

(1) Psychoanalytic approach
(2) Behavioural approach -

(3) Individualized
approach

instructional

(4) Multisensory approach
Which of the following Psychologist '

" _is not supporter of views about

14.

15.

"Psychology as a Science of Soul" ?
(1) Plato

(2) Aristotle

(3) Descartes

(4) Wundt

Which of the 'thoughts of school' in
Psychology is also called as 'Black
box theory' ? :

(1) Behaviourism (2) Structuralism
(3) Functionalism (4) Gestaltism
What is the other name of classical
conditioning ? '

(1) Type S conditioning

(2) Type R conditioning

(3) Type S-R conditioning

. (4) Type U conditioning

P.T.O.
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16.

1,

18.

19.

20.

Which of the following is nrof the
Main law of learning as prescrlbcd

by Thorndike ?

(1) Law of Exercise

(2) Law of Effect

(3) Law of Readiness "4
(4) Law of Generalization -

Which of the following Psychology
studies about man's thinking,

‘memory, language, perception etc. ? -

(1) Humanist Psychology
(2) Cognitive Psychology
(3) Abnormal Psychology
(4) Clinical Psychology

Which of the followihg terms is not
related with the operant conditioning ?

(1) Insight

. (2) Reinforcement

(3) Spontaneous Recovery
(4) Extinction -

Who was the of

propounder
'structuralism’ ? |

(1) William James

(2) William West
(3) Wilhelm Wundt
(4) Wilhelm Hunt

‘Which of the following is example |
of Innate Motive ?

(1) Award

(2) Hunger

(3) Pun_ishrnent
(4) Incentives
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(1) fafeaw s=1
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- % ? 21. The 'emotion of fear' associated - l
X which basic instinct 7 b
) AT (1) Repulsion
g))f Nl (2) Pugnacity
. RO (3) Appeal
(4) qama|d (4) Escape
¢ ? ' .
yHAAR ® B iCl ERECIET g ? 22. Who was the main propounder of

'functionalism' ?

| (1) William James
(2) o o ATHA (2) J. B. Watson
(3) =& & (3 Clark Hull
(4) TETE AT

. P ¥ B s @

?
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4) Edward Tolman.

: 9 * 23. Which of the following' is not the
*CaLd m_m 7T R T ® 7 ‘type of personality -given by
- : | Kretschmer ?
(1) g (1) Athletic
(&Y TS (2) Aesthetic
(3) W HFE 3 Asthenic
- (8) Td | (4) Pyknic
. Freffaa & & B9-a1 T SRR 24. Which of the following component
o { e 7ETE ? LRy is not related with the Motivation
b £ | Cycle' ?
(1) STEaE (1) Need
(2) I (2) Drive
oy (?Jélﬁ"T ‘ (3) Emotion
NV s {4) Incentive
25. TS ﬂ?FHﬁ qrer & e, 25. In which branch of Psychology there.

is a scope of study of Telepathy,
Rebirth etc. ?

| (1)’ e TR (1) Physiological Psychology
(2) et T (2) Clinical Psychology
(”/W LEIICEIE] (3) Parapsychology

(4) T ARaeT

(4) Developmental Psychology
‘ P.T.O.

Scanned with CamScanner



[B]

26.

27.

" www.Haryanadobs.in

[8]

' : | | » o
“qRemigar g9 gwar  oEl
R oRer X -1 o WIE
g7 | .
(Y6d1lad .
(2) 128207

(3) 386y

(4) 187® §3a8

g FTAM R ? -
(1) 503 60 (2) 36851
(Y20835  (4) 208 AR

(28 PR A & - e @
WA 3 R we o e R

29.

-({yﬁhﬁﬁ—)aﬂrﬁﬂm'é-
qg ‘

(2) W - Jdgfe — IRus —
() Tl - URYTH —)GFIT;ffE‘E -
o |

@) Wl - e - T —-
g9

26. What is age group given by Erik's*_'._l

27.

28.

29.

30.

(1) 6to 11 years

Q) Preparation —

for the

stage  "industry R
inferiority" ? o if ;

(2) 1210 20 years

(3) 310 6 years :

(4) 18 months to 3 years

What is the 1.Q. Range of severe
mental retarded child ?

(1) 50to 60 (2)-36 to 51
(3) 20to 35 (4) below 20

Which of the following is the correct

logical order for 'process of creativity' ?
(1) Insight

—5 Preparation —

Incubation — Verification '

Insight —
. Incubation — Verification

(3) Preparation —» Incubation —

Insight — Verification

(4) Preparation — Insight —»

- Verification — Incubation

In which stage of de\}elopment, .the

sexual changes that occur in the =

child's body starts to appear ? .

(1) Early childhood

(2) Later Adolescence

(3) Adulthood

(4) Puberty . .

Who  first introduced the word
'Emotional Intelligence' ? |

(1) Fredrick and Kirk
(2) Henry and Peter

(3) John and Cronback

(4) Mayer and Salovey '
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L5} 1B)
pirection : 4 [ 3R/ ENGLISH )
irection :
, mver rhef OI—IM’S_________‘?"G?MW by selecting the most appropriate option.
Choose the correct .
Jollawing': ¢l option for the 49, gll;:(;s? the correct option to fill the
An  instrument  for detecting The room was empty ....... for a chair
carthquakes is : in the corner.
(1) A Fathometer ) except
: (2) and
(2) Lithoscope (3) between
.(3»)/ A Seismograph (4) behind
(4) Candiograph 50. Select the correct option (phrasal

47. Choose the correct meaning of the
underlined words :
-It's a pity you don’t like football But
each to their own.
(I')/cvcryonc has different opinions
2) evéryone has similar opinions
(3) each and all are same
4) ‘cach one likes football
48. Choose the part of the sentence
which is incorrect -
James isbusy to prepare
a b <
tonight's dinner.
d
(M a
() b
)
@ d

Level-2/8101

51.

52.

verb) for the underlined word :

Most of the patients respect Dr. John
“for his kindness.

(1) pay back
(2)/zest for
(3) ‘make over
(4) lookup to

Select the appropriate modal for the
expression given :

When: . . we expect you ?
(possibility) _

(1) may ) will

(3) have to (4) dare

Choose the correct tense form :

My car for the third time since

- I got it. (break down)

(1) break down

. (2) has broken down

(3) was broke down
(4‘/ has broken

P.T.O.
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Sclect the appropriate modal for lhc |

CKPI‘CSSIOH gwcn

If you do that again you
punishcd. (threat) w gt *

(‘ﬂmay it i
(2) shall

(¥ can

(4)/ought *

Sclect the correct option (phrasal
verb) for the underlined word :

I don't know how we are, going to
cope with the cold during winters.

(1) make up for

(z)/put up with
(3) put down

- (4) setup

Choose the correct meamng of the
underlined words :

The baby monkeys ran every which
way.

(1) up

(2) straight

(3 in different directions

(4) down

Choose the part of the sentence
which is incorrect :

His new film is really worth
a b c
to be seen.
d
(1) a 2 b
B)c @y d

57.

58.

59,

60.

| (3)/ along

Choose the correct option to fill the
blank :

Immediately after the operation he
could see nothing vague
shadows.

---------

(1) as long as
(2) however

(3Y but

(4) notwithstanding

Select appropriate preposition to fill
in the blank :

The programme was broadcasted
the world.

(1) in

(2) off
(4)/ across

Select appropriate preposition to fill
in the blank :

They walked the footpath
until they came to a bridge.

(1) into

(3) onto ‘

(2) since
(4) in
Choose the correct tense form :

Nanny. died last week. She ...
from cancer for some time. (suffer)

(1) suffering

(2) is suffering

(yf had been suf‘fering
(4) suffers
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Direction : Answer the following questions by selecting the most appropriate option.

61. T AR T A IR 1 B = g 61. A person walks 1 km towards East
fe 98 @y fesm | e SR 5 Ryt and then he turns to South and walks
Tqdl & Y 98 ‘Eﬁ fesm & T 2 5km. Again he turns to East and
Bt g %, Igh 9% 98 IW e walks 2 km, after this he tums to
| e SR 9 fFft =Iw B oW e North and walks 9 km. Now, how far
Eﬂ"@‘ﬁﬁ g Yl ST & 7 | is he from his starting point ?
(1) 4 Rl &y’ Rt (1) 4km  _ (2) Skm
@) 7/ (@) 9FFl | (3) 7km (4) 9 km
52) aR p T g A GEAl % e 62. If p and g are rational numbers and
3445 3+\/—
i =p+gd5, A p T g F p+qJ_ then value of p
M % : ' - - and g are :
2 3 2 3
e 1 =Z.g=2
M p a0 =7 1 p 4=
et e 2 ’ 7 2
(2 == = 94 =—;q=—
) p 5= ) p 2=7 |
0,/ 7 3 7 _ 3
P=2=3 G) p 9=
| 7 7 7 o
(4) :——; = — = —_" = —
15 i & & @98 4, 7 fe=l 63. In a group of 15 people, 7 read
Y ¥ 8 o qed ¥ o 3 g A Hindi, 8 read English and 3 read
M AE qed % R aa R none of these language. How many
A aieh A Ted & 7 : people read Hindi and English both ?
1o - (2) o l (1) 0 () 3
(3) 4 5 | 3) 4 . R
~ Level-2/8101 . W Ll o ~ P.T.O.
i g ﬂ/
L z 1
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b\' y y
Amit i west tb:Prakash and North to

Sumit, Tarun is in East of Sun?it.
Tarun is in which direction with
reference to Amit ? '

‘(’f) North-West
(2) South

(3) South-East
(4) North

Three numbers are in the ratio 2 : 3 : 4.
The sum of their cubes is 33957,
then the numbers are :

(1) 14,21,28 (2) 12,18, 24

(3) 8,12, 16 (4) 4,6,8

A swimming pool, 30 m long has a
depth of water 0.80 m at one end and
2.4 m at the other end. The area of

the vertical cross-section of the pool

along thezlen'gth is : 5

(1) 48m2 (2) 72m2

(3) 156 m 4) 192m’

Anil is standing' at 16th position
from the left end in a row. Vikas is at
18th position from the right end.
Gopal is 11th from Anil towards the
right and 3rd from Vikas towards the
right end. How ‘many persons are
standing in this row ?

(1) 41 (2) 42

(3) 48 4) 49

A is father of X; B is mother of Y.
The sister of X and Z js Yy Which of

the fpllowing statement s
necessarily not true 9- '

(1) B is the mother of 7,
(2) Xis the sister of Z.
(3) Bisthe wife of A
(4) Yisthe sonof A.

A i
[B] [14]
' 64,
(4) ST
65. AT FET 2:3: 43 ogua ¥ ¥ o 65.
U, T AT 33957 B, & e ¥
S 2128 (2) 12,1824
o-u B) 812,16 . 4)4,6,8 %
5 : .
'jzss. 30 Hl I T B T Y W g 66.
T W 0.80 W W gw MR W
24 M & TN H TR F Ry
(1) 48 Wy 724"
() 156 % 4) 192 %
67. TF Uk A ofvd I BR ¥ 163 67.
WM W Y B faem e o8k @ -
189 ®H W B U o § et
A 11T ®E | ¥, ok Rem A
T BR @ R AR wH | Y zg
iR et @i w g ¥ 7
(1) 41 O 42
o (3) 48 4) 49
68 AXHRWME B, Y H A ¥ X 68.
L MMZBTEAY Y P A D |
L T AEYES WY QTG @ e 7
(1) B,Z#H amm 31 .
@)X, Z%H 87 B 1
(3) B, A% 5eh ¥ @T g
VO Y. A g b % — Ntz
Level-2/8101 v, o G _
R k. LT ﬁ-ncnﬁ\[l;f,\% L4y
m s o — p—r—
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69. fr
- DHL, PTX, BFJ, .
- () CGK . () KOs
JELNRV 4) ovz
70. P ot Ah F g@ v s iR
(2) MNO
_ (4) NOPQ
@ fort 3oh F o7y e s AR
P 69,55,26,13,5 4 28 1
g Lk 2 3. é ; -

XA 13
B % (32 (4) 55

2. T
oG] TS

7% H AM TG BN
(1) 63° '

84°

)

H TH PO 108° T AT
¥ & SR A Ao

S

(2) 74° oL
(4) 96° 5Lt b

...--71;8‘""_

73. @R DRIVER = 12, PEDESTRIAN =

20, ACCIDENT = 16, @ CAR=? .

(1) 3 U2y 6

(3) 8 4) 16

7A.

I
17

o 2 7 i
Q) T (2) (3) 19

@ A & 2 724 % = ©
5

‘A B

?m%,ﬂrmgm
2

15 (2) 17
- (3) %18 (4) X20

Level-2/8101

aER g @
e e §

15
69.

75.

S

o B

1.

72.

73.

74.

" gains as much percent as th
" the article, then the cost price of the .

(B}

Find the next term of th :
J e foll
letter series ¢ oNie

DHL, PTX, BFJ,
(1) CGK
(3) NRV

(2) KOS
'(4) ovz

. Find the missing term of the

following letter series :

~ A,CD,GHL?,UVWXY
(1) LMNO  (2) MNO
(3) MNOP  (4) NOPQ

Find the wrong number in the
following series :

69, 55,26, 13,5
(15
(3) 26

2) 13
4) 55

‘One angle of a quédrilateral is 108°
and the remaining three angles are

“equal. Find each of the three equal

~ angles : -
(1) -63* "(2) 74°
G3) 84° (4) 96°

If DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, then CAR =?
(1) 3 () 6
(3) 8 4) 16

then the value of x is :

7 7
2 ) ey
M 75 (3)

) = T

17

for T 24 and
the price of

A dealer sells an article

article is :
(1) 15 2) %17
- (3) %18 (4) ¥20

‘ Pn Tl O"
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(1) 24 Rt wify et (2130 Reeh sy e
(3) 32 {5 ufer der (4) 36 e ufy ey
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@ @ 10
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goy aur 8 ferl |-gy

3 T g Pt R A o
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3) 13’.-1-2_ (@ 14 |
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76.

.

78.

70,

Among five persons P, Q, R, S and
T, T is shorter than R and S. Q is not
as tall as T but taller than one
person. R is shorter than one person.
Who among them is the tallest ?

(1) R 2) Q

(3) 87} (4) P

If the compound interest on a certain
sum for two years at 3% -p.a. be
< 101.50, then what would be the
simple interest on the same sum for
same period ? '
(1) 50
(3) %125 '

(2) 100
(4) T 147

The radius of a sphere is doubled.
What percent of its volume is
increased ?
(1) 200% -
(3) 550%

(2) 450%
(4) 700%
Ina journey of 80 kms a train covers the

first 60 kms at 40 km/hr. and the
remaining distance at 20 km/hr. The

- average speed for the whole journey is :

80.

. (3) 32 km/hr.

(1) 24 km/hr.  (2) 30 kmi/hr.
(4) 36 km/hr.

12 men take 18 days to complete a
job whereas 12 women in 18 days

3
~ can complete i part of the same job.

How many days will 10 men and 8
women together take to complete the

same job ? | :
(1) 6 @y 71
(3) 135 (4) 14
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81.

82.

83.

84.

~ 85.

IB)
Who was the Nawab of Jhajjar
during the uprising of 1857 ?

(1) Abd-ur Rahman Khan

(2) Nawab Shamsuddin
(3) Sadruddin
(4) Bisarat Ali

In January 2020, which of the
following Nagar Palika was raised to

the status of Nagar Parishad
- (Municipal Council) ?

(1) Rania (2) Jhajjar

(3) Beri (4) Sirsi -

Where in Haryana 'City-forest' is
being developed ? i
(1) Murthal (2) Sohna . |
(3) Yamunanagar 4) Hansi

The original founding place of
Topara Inscription of Ashoka is
located in : o

(1) Ambala district

(2) Yamunanagar district
(3) Kurukshetra district
(4) Kaithal district

Identify the rivers, which flows from
Mahendragarh district :

(i) Ambumati (i) Dohan
(iii) Kasavati  (iv) Indori
Choose the correct code :

(1) (i) and (iii)

(2) (ii) and (iii)

(3) (i), (iii) and (iv)

(4) (i), (ii), (iii) and (iv)

- P.T.O.
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» E'BG Rl onEe 3 X ¥ it FuEt 86. Consider the followmg statemcnts_‘
i S > S about Minty Agarwal : B |
(1) e 3 o Prard Pt o (a) Minty Agarwal, a native ;'of :
ARG g & # wEge s} Haryana, is a Squadron Leader
B 1 | in Indian Air Force.
(a) ® IS a1 Asq O HA A (b) She is the first woman, who
qealt Afeel &l o received Yudha'Seva Medal.
T TR aef Choose the correct answer :
(1) = () g8 & (1) Statement (a) is true
Q) A (a‘) e (2) Statement (b) is true
3) (\3’[) AR (ﬂ) N T % (3) Both (a) and (b) are false
M) (W) R (9) I (4) Both (a) and (b) are true
37 ‘A aftw SAHY 3 ey % 87. The President of 'Haryana Sahitya
: w 3o TR I Academy' is :
2) & e aw 8_) Dr. Kumud Bansal
: ) Sh. Manohar Lal
\fﬁ) Slo M =0 (3) Dr. Ashok Batra
(4) = T A (4) Sh. Rana Oberoi
88. mﬂ’ﬁ LCIE| G:I?II LIGI| Fﬂ%ﬂ G:iﬂﬁi'ﬁ 88. Ancient Bhawani Amba Mata temple
' is situated in :
@,{ Sk S (?{emalar § (1) Jind (2) Ambala
e E @) R (3) Sonipat  (4) Kurukshetra
8o, Fr=ifad ¥ ¥ emde (HAFED) &% 89. Which of the following are frue
aR # PH-ar gF e ? about the functions of HAFED 2
RO Tﬁ JARE H GUS FHET B (i) It procures agriculture products.
(ii) T& FN IR F RAH Far B (ii) It markets agriculture products.
(iii) 7® @f& M H gﬁ-‘[ FTl Bl (iii) It supplies agriculture inputs.
T8l T F a9 Fw ;| Choose the correct code :
(1) () R (i) (1) (i) and (i)
(2) Fa (i) (2) only (i)
G) () AR Gii) (3) (i) and (iii)
(@A), Gi) A (i) (4) (i), (ii) and (iii)
90. ‘TR ew YA € IHAT Bﬁﬂl‘"ﬂ 90. 'Air Shuttle Service' h
‘?z A %{[5 % from which city of Ha:;azze';l N
. m 2) FT - (1) Hisar (2) Karnal
e i) S D () Rohtak  (4) Ambaly”



